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#include<stdio. h>

int main() {
int project_money = 0;

printf( “aEf-OBmLWLNI Y 7);
scanf ("%d”, &roject_money) ;

i f (project_money<=10000) {
printf ( “ERIENFE L=, ¥n");]}
elsel
printf( “BBRIESNFLATL=. .. ¥n") ;]

return O;
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Tips

sRIETE(AND)IFEBR B DEREZT AT
=T MEINRARDEZEIZEFITT,
Bl 2<x<13: 2<x&&x<13

RIEFN(OR)[IEHMDEZREENMN—D
mT=L TN MEIDMARDIGEIZEF,
Bl x<2,x>13:x<2||x>13
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if(user==1){...}
else{ if(user==2){...}
else{...}}
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#include<stdio. h>
int main() {
int user = 0;

printf( “CLoAltA. ¥n”);
printf ("1: 45 —¥n2:F 3 £¥n3:/3—¥n");
scanf ("%d”, &user) ;

i T (user==1) {
printf ("Bt 0—., avEa1—%:/5—¥");
}

else]
i T (user==2) {
printf ("S- Fax, avEa1—F:5—¥");
}
else
printf("®H7Ef=/\—, aEaA—% F3%¥");
1}

printf("a>Ea2—42DEE ' ¥n");

return O;
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if(user==1){...}
else if(user==2){...}
else{...}



#include<stdio. h>
int main() {

int user = 0;
printf("CoAlTA. ¥n");

printf (“1:45 —¥n:F 3 F¥n3:/8\—¥n");
scanf ("%d”, &user) ;

i f (user==1) {
printf("Hit-: 45—, avEa1—%:/8—¥");
}

else if(user==2) {
printf( “®iEf-Fax, avEa1—2:9—¥");

}

else{
printf("&Hit= /83—, aE1—%:F3F¥");

}

printf"a>Ea12—2DEE1¥");

return O;

}
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switch(user){
case 1:
printf(“.
break;
case 2:
printf(“..
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#include<stdio. h>
int main() {

int user = 0;

printf("CoAITA. ¥n");
printf (“1:45 —¥n2:F 3 £¥n3:/\—¥n") ;
scanf ("%d”, &user) ;

switch (user) {
case 1:
printf"&Af=:J—, avEa1—42:F 35",
break;
case 2:
printf("&HAat=Fax, aExL—F:T—¥");
break;
case 3:
printf("Hif=/N\—, aVEa1—42:5—¥");
break;
J

printf"a>Ea2—42DEL ' ¥n");

return O;



